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1. Eqd 3t weer Ragwe seee g@ia amit S stet 7757 ?

(1) SEFAHR A TIHITAT 1955 ittt 420° Rervera farerT et

(2) vrarder gfeen fadf wits fomge ‘smr a9 ftr

(3) ‘O ® IS Wihg e,

(4) wfag e g i I et § w3m @ foen wemy taes v 9 w6 4 afle
3R,

Which one of the following statements is not correct about the late actress Sadhana
Shivdasani ?

(1) Acted as a child artist in Raj Kapoor’s film ‘Shree 420’, in 1955.

(2) Acted in India’s first Sindhi language film ‘Abana’.

(3) Became famous for the hair-cut named as ‘Sadhana Cut’.

{4) The famous song ‘Jhumka gira re Bareilly ke bazaar mein’ was in her suspense
thriller film ‘Woh Kaun Thi’.

2. 14/9/2016 Tl TY <l BT FENTE 4% HI0 B 2

(1) & 3. smEE (2) #indt & TegE

(3) stygdnem (4) =i &9 T

Who was the Chairperson of the Union Public Service Commission as on 14/9/2016 ?
(1) Mr.D.P. Agrawal (2) Smt. Rajni Razdan

(3) Mr. Subir Datta {4) Mr. Deepak Gupta

3. TN HAA GFd I% YOS SAHITT SIATNE g, oA Sied i W A7ET ?
(1) @ 2008 " AUTEES YANIH &G,
(2) I S e A .
(3) o HN v vediwt o,
4) 1980 FTch Wala® var wfeviia T

Pushpa Kamal Dahal alias Prachanda was recently in the news. Which is not true
about him ?

(1) He became the Prime Minister of Nepal in 2008.

{(2) He was born in Kashi.

(8) He was a graduate of Agriculture.

{4) He became the secretary of the Maoist Party in 1980.

FHocT FHINTS) WHIT / SPACE FOR ROUGH WORK P.T.O.
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‘TU-8’ T Gy @Y Afiey e 2

3 SfifiaeT g9d TR SR A JodTe Squea 3R,

WRE M0 FATEeR S fasita .

T 0TS 9 70 feanfier am.

‘TEFEICAF TTBa U 9 ARG AR 1 oA FEd I .
(1) AR FHroRd T (2 w=d

(3) wHH (4) <O wd

What is the speciality of the missile ‘Barak-8 ?

a. It is a middle ranged land-to-air missile.

b. It is developed by India and Israel jointly.

¢. It has a range of 70 kilometres.

d. It is based on ‘multifunctional surveillance’ system and is out of radar range.
(1) None of the above (2) Onlyb

(3) Onlye ' (4) All of the above

ol o Ay

wreftet T feamoa e -

7. T fp gisTia e ST aen AR,

%, Ty o e mie wi #g7 fo=n e B .
Fatht Foe R sl ema ?

(1) e o oo & (2) wE« M H
(3) W& A MU H (4) A, q=F

Consider the following statements :

a. Zika virus is spread by Aedes aegypti mosquitoes.

b.  Zika virus comes from the Zika Forest of Uganda.

c.  Zika virus can be transmitted from a pregnant mother to her baby.
Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandec

(3) Onlyaandc (4) a,bandc

6.

HI1 AT Feate Aty dm faun e :
H, AT e B Mee Tid RBeET AR,

|, UGSl i B Meed g e IR,

%, Aol NEH B MeS TWiegd faoT TR,

(1) aa 31 oM 9 (2) wad I I H

(3) e @ anfr % (4) alieTdeht Hiud T

Select the correct statements about the Copa America Football Champlonshlp/
Competition :

a. Alexis Sanchez is a Golden Ball Winner.
b. Eduardo Vargas is a Golden Boot Winner.

c. Charles Aranguiz is a Golden Gloves Winner.
(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) None of the above

FEEYT FTHTHIS! SN / SPACE FOR ROUGH WORK
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7. AqreseA o WfAuHdel wgdl snftr de g gevht .

. Furmeern afss TRdE e S L 275

%, fayrmeara wFs TRda g s Im. 308

F. diagere TR FOW : L. 35

3. RuEwRTe T fasm IV. 59
H q & g

1y IV I 1 II1

(2 1I II1 v I

@ 1 II II1 v

(4) III v I II

Match the provisions with figures in the New Constitution of Nepal.

a. Total seats in the Upper House L 275
of Legislature

b.  Total seats in the Lower House II. 308
of Legislature ‘

e.  Total Articles in the Constitution . 35

d. Total Sections in the Constitution IV. 59
a b c d

1 Iv 1 1I III

(2 I 111 v I

3 1 II I AY

4) 1III v I IT

8. Treite faum fa=ma =
A, IR AT T 22 /1=, 1945 TS T,
g, IO 8 TS o o7 TEAE GO IR,
®. g, 2011 TEA e dmyd e vee | S o I,

Tedht o faum s amea 2
(1) ad o Ao @ (2) ad 9 anfr &
(3) I A $ (4) =, I H

Consider the following statements :

a. Arab League was established on 22°¢ March, 1945.

b. Iraq was one of the founder members of Arab League.

¢. Syria’'s membership of the Arab League has been cancelled since
November, 2011.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybande

(3) Onlyaande (4) a,bandc
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1) IV III
(2) IV III
(3) III v

(4) III v

Match the pairs :
‘A..’
(Minister)

a. D.V, Sadananda Gowda

b. Arun Jaitley

c. Smt. Maneka Gandhi
d. Radha Mohan Singh

a b
1 Iv III
2 Iv III

(3) III v

(4) III v

II

II

C

I

IT

I

II

IT

II.

ITI.

II

II

B
(Department)

Agriculture and Farmers Welfare
Women and Child Development
Information and Broadcasting

Law and Justice

TET SHTHTS IR / SPACE FOR ROUGH WORK
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7 V08
‘TEH TR TSR 9ed gheefid T = wduemdie ‘erfeied go 1 Rrardemmsasar
frumen fmm w1
¥, e wdiere Rremdisien el 601 A wE.
¥, AT SAEEd W 191 9 T,
F, AN TOT WA 2% w9,

Fth v/t faam/A s sR/amE 2
1 wWHA

(2) & oqfvr &%

(3) vhaw o anfur ¥

(4) Foeth v

Consider the statements about ‘Savitribai Phule Pune University’ in the survey of
‘Time Higher Education World University Ranking’ :

a. Rank 601 in the order of best universities in the world.
b. Rank 191 in standard of teaching in the world.

c¢.  Secured 229 rank in teaching standard in India.
Which of the above statements is/are correct ?

(1) Onlya

(2) Onlybandc

(3) Onlyaandb

(4) All of the above

11,

20 T, 2016 Tsht Feeefidier Fivd HEET U @nge Wi STl SERTE TR Fe ?
(1) e Hfem ¥§fE T9 7

(2) e Foser HfiEm

(3) e e T

(4) e Tl ot Aved ad

Which prominent National Museum situated in Delhi was almost completely
destroyed by a massive fire on 20 April, 2016 ?

(1) National Museum of Natural History

(2) National Handlooms Museum:

(3) National Gandhi Museum

(4) National Gallery of Modern Art
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IEq A
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v III
v II
I III

III
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II1
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12.  Sirswr @ (e et oars, 2014) ¢

Match the pairs (Sahitya Akademi Awards, 2014) :

(1)
(2)
(3)
(4)

"
Ashvin Mehta
Jayant Nar]j.kfu'
Gopal Krishna Rath
Ramesh Cha.n‘dra Shah
a b : c
I II ; ITI
v ITI II
v I I
I ITI II

I

v

fB ’

" Hindi

Odia
Marathi

Gujarati

FEqT SRS AT / SPACE FOR ROUGH WORK
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13, ‘Sgd A AHHEEEEde fAgEET e 6
¥ ‘T @R T A e e e,
W, ¥ 1978 HeA Tyeht YhEAT ab YeHIIG SHOTE AT g,
%, R ‘oregd 1 TEn s SuEd ST
T o S, H9 o SR wINagg ST Heard et anfr amar St fr et susha

AT Het IR,
TR FHIore fum™ s0ET TRd ?
(1) waa F afr (2) Had & AT &%
(3) WA A, TS 4) whethrad

Consider the statements about ‘Baluta’, an autobiography :

a. It is written by ‘Daya Pawar’ in Marathi.

b. It was published in 1978 by ‘Granthali Publication’.

¢. It was translated in Hindi bearing the title ‘Achhut’.

d It was also translated in Kannada, French and German and now has been
translated in English by Jerry Pinto.

Which of the above statements are correct ?

(1) Onlyaandb (2) Onlybandec
(3) Onlya,bandd (4) All of the above
14, RS HET THAFA Fohd YR i@ TH . (ATM) =0 IO T J9I9a: 9
et ?
(1) ofFfg ¥% 2) smuH.amdam. 9%
3) wWHuwd. % (4) A ¥
Which nationalised bank in India first started Aadhaar based ATM usage facility ?
(1) Axis Bank (2) ICICI Bank
(3) HDFC Bank (4) DCB Bank

15. I fum/faum s -
A. e YN A sHEEarant 1 I3, 2015 IO & e,
. qum Wt Sfaa s o aenEh siemematt 1 A, 2015 IHT gF @i,
(1) faam o1 sl oM
(2) FuE 9 s eme
3) o Rum @1 snftr 3 ST oA
(4) Trd faum 1 snfh 9 gh= aa
Select the correct statement/statements :
a. The Atal Pension Yojana is implemented from 15* June, 2015.
b. The Pradhan Mantri Jeevan Jyoti Beema Yojana is implemented from
15 August, 2015.
(1) Statement a is correct
(2) Statement b is correct
(3) Both the statements a and b are correct
(4) Both the statements a and b are incorrect

HoAT FHTATS! AN / SPACE FOR ROUGH WORK P.T.O.
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16. @reite faur feema =
A, v dfeur e afgelt daw 9 feder, 1946 Ush g veeht.
3. o gfeere fama &y afaus @i ey g9,
%, WRAY Gfeur a9 26 Tegat, 1949 Ush wfawr i
Fhetd P/ fAumA AR R/ 2
(1) Saa A
(2) Had A MM
(3) HHTAMMSE
(4) Had o MM F
Consider the following statements :

a. The First Session of the Indian Constituent Assembly was held on
gth December, 1946.

b. Dr. Sachchidanand Sinha was the President of the Indian Constituent
Assembly.

¢. The Constitution was adopted by the Indian Constituent Assembly on
26 November, 1949.

Which of the statements given above is/are correct ?

(1) Onlya

{2) Onlyaandb

(3) Onlybandc

(4) Onlya and c

17. 2% TSITAT ‘HEiieedT YeMmd et famitshl Sive st 7787 ?
(1) Fo9 165 TR TITAT ‘AETieEsar Ugt Tgs et .
(2) AT FEBAESEG Usaued HiE) difae ).
(3) wRarsar T v Searmmm 3w, s 9 gaod! s,
(4) T Ruriges gew e v fasmTfrrr Sashman 3.

Which of the following statements is not correct about the office of ‘Advocate
General’ of a State ?

(1) Article 165 provides for the office of ‘Advocate General’ of a State.

(2) The Constitution is silent about the term of office.

(3) Gets emoluments as fixed by the President of India.

(4) Enjoys all those privileges which are enjoyed by the members of State
Legislature.

FoeqT HHTATE ST / SPACE FOR ROUGH WORK
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18. e o (T fidish arieds 99)

‘37? P

A, M e wiwy I 3<% 48
9. HAW AP I 3=8T 40
F.  UST TREHNR T Il a7 44
T W e S IV. 3173% 49

H q - ) k- 4
1 I I11 A" II
@2 I 111 I1 v
3 1II III v I
4 III v I II
Match the pairs (Directive Principles of State Policy) :

A’ g’

a. Prohibition of Cow Slaughter L Article 48
b.  Uniform Civil Code II.  Article 40
c.  Protection of National Monuments III. Article 44
d. Organisation of Village Panchayats V. Article 49

a b c d
1 1 I11 v II
2 I IIT 1I v
3 1I III v I
(4) I v I II

19. 9RH TOUCTSN GRfaidl S FoWd 88 4 de s 96 qaEd Aea 9

weRfrean Freoeh atgg et g ?
(1) oM 214 (2) oM 21, (8) %M 51u (4) wem 25

Which of the following Articles of the Indian Constitution provides for free and -
compulsory education for all children aged six to fourteen years 7
(1) Article 21-C (2) Article21-A (3) Article 51-A (4) Article 25-C

20. WRAE HiagEren VR S faun e o _
A, FRYUHFE B URAE TSTUST WA 2R, WY ANEEErRG Wi agd SHed
Wﬁq&gmﬁmw 39 E.
T
aﬂaﬂﬁ Hve/dt faem/A st sme/eTed ?
(1) ®RA . (2) HFara (3) wwd (4) SO P
Consider the following statements regarding the Preamble of the Indian

Constitution :
a. The Preamble of the Indian Constitution is a part of the Constitution but it is
not enforceable by courts.

b.  The Preamble cannot be amended like other provisions of the Constitution.
Which of the statements given above is/are correct ?
(1) Onlya (2) aandb (3) Onlyb (4) None of the above

FoehT HETATS! SIATT / SPACE FOR ROUGH WORK P.T.O.
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21. 73 WEAIGERI WHIA TGS AN FHew A= Jo5uf @
. vatq fteeeg mmash wE I 243(F)
W, TMUTASER AHUSTE S ST 0 II. 243(3)
%, WYY JHIERdT Hrwe 5 aatE
ufEs III. 243(37)
3. gy wfa, g Smmdt o wiieee
STRE IV. 243(3)
H dq 3 -4
(1) 1III I v II
2 1 II IT1 v
@ IV III o I
4 1 v I I11
Match the provisions in the 73" Constitutional Amendment with the Articles :
a. To establish Gramsabha with L. 243(B)
sufficient powers
b.  Establishment of Village Panchayat II.  243(D)
at village level
c. Normal term of office of Village III.  243(A)
Panchayat will be of 5 years
d. Reservation for Scheduled Castes, IV. 243(E)
Scheduled Tribes and women
a b c d
(1) I I v II
2) 1 IT II1 v
3 IV III II I
4 1II v I III
22,  WRAE TSTOUATAT GETAHE GIAah! HATET ToH Ieaid HvaTd AT AR ?

(1) w@w= (2) w

(3) =g 4) A=

In the Preamble to the Indian Constitution, what among the following is mentioned
first 7

(1) Liberty (2) Equality

(3) Fraternity (4) Justice

FeeqT SIS ST / SPACE FOR ROUGH WORK
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28, WY TsuweAR waW 40 ® Sy g fod g ¢

(1) "9 AR FRE (2) v=Ea TS
(3) THH FEEE GHH g6 (4) wfgen geefiwor
Article 40 of the Indian Constitution deals with
- (1) Uniform Civil Code (2) Panchayat Raj
(3) Equal pay for equal work (4) Women Empowerment

24. TEN AT HEHid GiEie fauE e o
W, O oA qB TEd GRS Fogd!.
. 1976 A9 42 T TEAGFRIGR S8 JEN[ Faod WA Tedqgend GaTiase Huam el
®. WY o e FErede ger Reren geffee st Fdea 86 31 degERN 2002

el TmTfaee FwETe AT,

Thedht SR/ faumA 0wt /e ?
(1) FEAAAMET (2) FHATAMNEF (3) Faa A AMIF (4) I gWF
Consider the following statements regarding Fundamental Duties :

a. Fundamental Duties were not provided in the original Constitution.

b. Ten Fundamental Duties were added by the 42" Amendment in 1976 to the
Indian Constitution.

¢. The eleventh duty relating to the provision of opportunities for education
to the children between the age of six to fourteen years was added by
the 86" Amendment 2002.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybande (3) Onlyaande¢ (4) a,bandc

25. “Andim Usdia SR v (oTe.wA.ELg |, Seasan e fem s
o1, fosht T 1947 7 T,
¥, fo<ht sifirereht wiim (o) wamEft o,
F.  HETET GEtE W TRl R, 991, SR T Iiaamd ynTH eae oreft fash

YT 3R,
ThH wor/dt Rum/A Tl=t 2m/emRa 2
(1) S A (2) wad A MO«
(3) e ¥ IMTUr &% (4) 1,9 A=

Consider the statements about ‘Indian National Trade Union Congress (INTUC) :

a., It was established in 1947.

b. Its obligation is to the Congress(I).

¢. As far as possible, to solve the problems relating to workers with the peaceful
means as — coordination, discussion, negotiation, is its presumption.

Which of the above statements is/are correct 7

(1) Onlya {(2) Onlyaandb

(3) Onlyaandc (4) a,bandc

FHoeqT HHTETS! STAT / SPACE FOR ROUGH WORK P.T.O.
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26. TBYH § N YBAE &
(1) wufi fqawrEe (2) w@nft THEST yuE
(3) w@mft frmrEg (4) @& AFE T
Mula Shankar is the original name of
(1) Swami Vivekananda (2) Swami Ramkrishna Paramhansa
(3) Swami Nigamananda (4) Swami Dayanand Saraswati
27. 1857 Shifdea1 ST YAHT TS W HTHY Ea ?
) e Tl e (2) TR
(3) e AN 4) P fm
Who was the leader of the 1857 Revolt who took shelter in Nepal ?
(1) Queen of Jhansi, Laxmibai (2) Nanaseheb
(3) Tatya Tope (4) Kunwar Singh
28. W wmAGE S U
H,  GEE SHHH @ (PWD) §F &t I < goenh
9. 1857 T IFENSEET TR FRA I e e
¥F. cgieger 3 T U9 F III. ¢ FHaf
3. wEgiae Fefa e FA V. @ig &
) q - ) -4
1 Iv II II1 I
2 1 v II 111
(3) III I v II
4) 1I I I v
Match the suitable work :
a. Started Public Works Department (PWD) [.  Lord Dalhousie
b.  Governor General at the time of Revolt of 1857 II. Lord Lytton
c. Passed the Vernacular Press Act IT1I. Lord Cornwallis
d. Translation of the Bhagwad Gita into English IV. Lord Canning
a b c d
(1) IV II 111 I
2) 1 v 11 III
(3) III I v II
4 II I11 I 1\Y

FTEqT HINISE STATT / SPACE FOR ROUGH WORK
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- 20. FIUET g TR T FHUTF 1828 1 It ?

(1) e fafram s (2) =e ¢ew

(3) ¢ =t (4) AN

The Governor General who appointed Inam Commission, 1828 is
(1) Lord William Bentinck (2) Lord Hastings
(3) Lord Wellesley (4) Lord Mayo

30. 1858 <A1 IRd GTHR HEel A1 TROIH I,
(1) ¥ =¥UR
(2)  Fudrear gaadis sfash sl
(3) g wfor e wreifre fremorn
(4) wiE WU
Find the result of the Government of India Act of 1858.
(1) Free Trade
(2) End of Company’s rule
(3) Compulsory and Free Primary Education
(4) Local Self-government

31. ATHA FBAd GSH AT AT TghTSAT A HITEAT e gfRen Tel Ut ?
(1) FTs (2) e 3) & (4) uwR

With the help of his comrades, Vasudev Balwant Phadke raided
village for the first time.
(1) Karad (2) Dapoli (3) Dound (4) Dhamari

32. . Torrh don 9 sween Regmsd ged 3R wn fegmn s ufden o =n
TreRaTe goI, |1 anfor 3 o8 Rregram i TR TR

g T g w1 smdear egnaed wefel Seamn w0 ufken /@ &1 @@
(1) 1 Ao § SR (2) AWHT TH
(3) AT« TR (4) & o v 5%

a. Mumbai Suburban has the largest number of women population followed by
Pune, Nashik and Thane districts respectively.
b. Gadchiroli district has the least number of women population followed by
Hingoli, Washim and Bhandara districts respectively.
(1) aandb are True (2) a is True b is False
(3) aisFalseb is True (4) a and b are False
e FTTETS! ST / SPACE FOR ROUGH WORK PT.O.
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33, _ it uma v @ weds e

(1) TR wiga (2) TS IR

(3) WIS HEwH (4) fgwfiR

founded Manav Dharma Sabha.

(1) Dadoba Pandurang (2) Gopal Agarkar

(3) Bhau Mahajan (4) Vitthal Shinde
34. B IO G GUY i qEeql Genve e €.

(1) &AM (2) TH.UH. TN

3) favame nefes (4) . St

was the most important founder member of the Poona Sarvajanik Sabha.

(1) K.T. Telang (2) S.M. Paranjape

(3) Vishvanath Mandlik (4) G.V.dJoshi
35. g e admas wfetd oo Feem Jawel gE S ?

1) wwis (@) S (8) WM 4) 3w

The newspaper ‘New India’ was started in which of the following countries ?

(1) England (2) Germany = (3) Japan (4) USA
36. WAl Eraae g TeM =m -

n.  w faferm Jew I ot it oniw f $feem Fome sl

9. e Em 1. dioew s

®. g =ER [l 0agR gefid ST et

3. HOgE IV. vfrdie demds e

H o C2 £

(1 1II 111 v 1

(2) III I I v

3 I IT ITI v

4 IV I II I1I

Match the following thinkers with their social contribution :
a. Sir William Wedderburn I British Committee of the Indian National

Congress
b. Alan Hume II. People’s Friend
c. Max Muller III. Translation of Rigveda into English
Colbrook IV. Foundation of Asiatic Society
a b c d
(1) II ITI v 1
(2) MI 11 I v
3 1 II III v
4 IV 1 II II1

T HTATAIS! ST / SPACE FOR ROUGH WORK
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37. WEfei) Pror ufke T GUREE Jeiiear R I it S gEaTd et 2
(1) . f.9m. FEew (2) wEeN o
(3) Tigar$ F (4) Tageere e
Which of the following social reformers first started the encouragement and spread
of girl’s education ?
(1) Dr. B.R. Ambedkar (2) Mahatma Phule
(3) Godutai Karve (4) Vitthaldas Thakersey
38. ‘T wEiRRRE” 9 gWHE Ireag E et Fag Feft B
(1) = st Sfiré (2) g AReh
(3) I, ACHRW TG (4) T, TRER
was elected as the honourary President of the “Bombay Association”.
(1) Sir Jamshedji Jijibhai (2) Dadabhai Naoroji
(3) Dr. Atmaram Pandurang (4) G.G. Agarkar
39. YA Sie ISaBd It A AL FHIGE TEHR 9 Hat.
(1) R e (2) AEh TTEH
(3) AT W (4) TNEE FUA
established parallel government in Satara during the Quit India
Movement.
(1) Nardev Shastri - (2) Umaji Naik
(3) Nana Patil (4) Ganpatrao Kathle
40. VR T ST GBS A>T S,

(1) TR

(2) faftm=g ae

(3) e A=

(4) A AEE

Identify the moderate leader of the Indian National Congress.
(1) Rajguru

(2) Bipinchandra Pal

(3) Dinshaw Wachha

(4) Motilal Nehru

FEEYT HETHEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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41, Qe e 9

S
@ AR
¥ 9ER
&, TR
T faygt
A "
(1) III 1
2 Iv 1
(3) III v
4 I 1
Match the following :
District
a. Nasik
b. Chandrapur
c. Ratnagiri
d. Sindhudurg
a b
(1) I II
2 IV 111
3) I v
4) 1 II

II
II

III

IT
II

II1

18

TA1-359 5479 (Sex-Ratio)

(2011 FFT9FIR)

I. 1036

II. 1122

III. 934

IV. 961
g

v

Sex-Ratio
(As per 2011 Census)

L 1036
II. 1122
III. 934
IV. 961

I
v

WO BHTATS! I / SPACE FOR ROUGH WORK
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42, GEte faum e

A,
.

&,
€.
(1)
(2)
(3)
(4}

FHoihcaras 1 39 vfikel am M 1861 Wl g FeA.

form JEqE JEimE gEem dTER A9 1940 wed W, @ea ' SEm figeem
wHifeaa fafite o1 Foies saiaia s .

WA iget s Hig-aieng Jam qfiem St g A9 g6 AT AT.
YA Iige @a I FnEs Tade gaarg Segaa &l 39 gw wwgm e
%o fauE 3 0T R

o fue & =t oM

%o fqur ¥ onft T SO ITRa

i v faum sR= g

Observe the following statements :

a.
b.

(1)
(2)
(3
4)

First Jute Industry in Rishra near Kolkatta started in 1861.

Air Transport Industry started in 1940 at Bangalore, then this industry is
transferred to Hindustan Aeronautics Ltd. company.

First modern Iron and Steel Industry in India started at Durgapur in West
Bengal.

First Fertilizer Industry in India started at Sindri in Dhanbad district of
Jharkhand.

Only statement a is correct
Only statement b is correct
Only statements b and d are correct

All the above statements are correct

43. GRiTiE FvE FEN GS-TENd I TR ?

(1)
(2)
(3)
(4)

Frafifdt
iR

Y
Hd

Which of the following industries is at Thal-Vaishet ?

(1)
(2)
(3)
4)

Glass manufacturing
Automobile

Paper

Fertilizer

HEgT BATATS! AT / SPACE FOR ROUGH WORK P.T.O.
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44, Erele IS o

Fregr AR %
A HEg 1. dad
T 3m II. aT&t
% TFE III. Fgiar
T TR IV. wmEuet
H q -] p-{
1 I I1 III v
2 Iv I I1 ITI
(3) III v I I1
4) 1II IT1 v I
Match the following :
District Fishing Centre
a. Mumbai I Shrivardhan
b. Thane II. Vengurla
c. Raigad ITII. Versova
d. Ratnagiri IV. Satpati
a b c d
1y I II ITI v
2 Iv I IT IT1
3y 1III v I I1
4 1II 111 v I
45. 2011 = SANHIER WA GTelia WA= 3 § 3= dAFEes1 SHaqaR I W o
o, o I SHEER q. TS
&, RaEdm g Tz
(1) T, 9 38, (2) ¥, HA,T
(3) ,8,49, & 4 s, 3,9

Arrange the following states of India from low to high density of population correctly
as per 2011 Census :

a. Jammu and Kashmir b. Nagaland
c. Sikkim d. Mizoram
(1) d,b,a,c (2) b,ec,a,d
(3) a,4d,b,¢c 4) d,a,cb
46, TR St T Reaudarea iR W ST i 2R G ST
firzd 2
(1) g (2) HaHd! (3) amdt (4) @

Which one of the following rivers originates in the west side of Vindhya Mountains
and joins the Gulf of Khambayat in the south ?

(1) Luni (2) Sabarmati (3) Tapi (4) Mahi
AT HHUTHIST AN / SPACE FOR ROUGH WORK




A 21 Vo8
47. Gl ST Resar SFUET 2011 TOR d9iq FH ara-fermue g 2

(1) BTN (2) WA (3) afm (4) FHTE
Which of the following districts had the lowest child sex-ratio in 2011 Census ?
(1) Ahmadnagar (2) Kolhapur (3) Washim (4) Jalgaon

48, YA TE-ATE (Water man) &V HIVH ST I ?

(1) wwEE faas (2) AT 9eER

3) YIS g 1) T9g e

Who is popularly known as ‘Water man’ in India ?

(1) Madhavrao Chitale {(2) Medha Patkar
(3) Sundarlal Bahuguna (4) Rajendra Singh

49, Gt S @@l

TEHTIT JER foeg
q. e A wEs I 9 APg, Y, TR, SIeEy
¥, YRdE AviE ES® II. IJ9a9Tes, Tefate, wadt
%. faeg Afie wsw I 7ics, R
3. TMeE AR Es®s 0 IV. WEW

H q “h k-3
(1) II I IT1 v
@) I ITI I1 IV
3 1III I v II
4 IV 11 I III
Match the following :

Rock Type Districts

a. Archean Rock System I East Nagpur, Bhandara, Gondia, Kolhapur
b. Dharwad Rock System II.  Yavatmal, Gadchiroli, Amravati
¢. Vindhyan Rock System III. Nanded, Sindhudurg
d. Gondwana Rock System IV. Chandrapur

a b c d
(1) 1II I I11 v
2) I I11 I1 v
3 1III I v I1
4 1Iv II I ITI

Tl THITS! ST / SPACE FOR ROUGH WORK ' P.T.O.
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50. wrefid e oA

g #rf
A o, g L sEmR
4. TS, AR II. SUVEERYS
#.  FRUFR, JaAR 1. oeHE
3. wet, Fers IV. &S
A o ) k-
(1) III v I 11
(2) III I v I1
(8) 1II II1 I \Y
4) IV III I 11
Match the following :
Cities Functions
a. Pune, Mumbai I Industries
b. Manmad, Nagpur IT. Trade/Market
c¢. Warnanagar, Pravaranagar ITI. Administrative
d. Sangli, Niphad IV.  Transportation
a b ¢ d
(1) III v I IT
(2) III I v I1
3 1II III I v
4) IV III I IT

51. m2013—14mwmaugaaﬁammmm%m.
(1) iHl, g e, Taae, TE
(2) i, TR, TEY, IYG T
(3) Hewl, TG, WE e, dw@He

(4) oYg AR, HiBH, TTEL, TEEe

Write the descending order of Maharashtra’s Mineral Production according
to year 2013 - 14.

(1) Coal, Iron ore, Bauxite, Limestone

(2) Coal, Bauxite, Limestone, Iron ore

(3) Coal, Limestone, Iron ore, Bauxite

(4) Iron ore, Coal, Limestone, Bauxite

ToEg] FHENTS! IR / SPACE FOR ROUGH WORK
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52.  rEYeh MY Ayl AL FIET THRS IR ATES ?
(1) 3w sfeada Frosfa s
(2) v wieEdT weEla g s
(3) I wREHY g TR e
(4) I wfad Ioh TS I
What type of forest is found in Amboli and Igatpuri ?
(1) Tropical semi-evergreen forest
(2) Tropical wet-evergreen forest
(3) Tropical moist-deciduous forest
(4) Tropical dry-deciduous forest

Vo8

63. it G T ST THRS 7R ?
(1) fFrFraedR it vy gamamm afso
(2) WIH Fauiie i v g G
(3) fFmued= onftr gert siavimde T |fasu
(4) e YSH JauRTHE gamH
What is the type of climate in Tapi valley ?
(1) Transitional between the climate of coastal plains and mountainous
(2) Transitional between the climate of interior plateau and mountainous
(8) Transitional between the climate of coastal plains and interior platean
(4) Interior plateau climate only

64, WA Y0 THeqdl HH A=A AGAeT] A 9.1, A THO Focdl HHH 6l

¥, IR T, W F.  AHATE!

g U9 daeeE 3. WeReU

(1) §9,:A,%,38 2 91 H,38, %

3 #,3 %,9,3 4 I, H,3,F

Rearrange the following dam projects as per their TMC capacity in ascending order :
a. Varna b. Bhatghar c. Jayakwadi

d. PenchTotladoh e. Bhandardara

(1) e, b,a,¢cd (2) b,ea,d,c

3) ¢ d,ab,e 4) ebadc

TEET HETATS! SR / SPACE FOR ROUGH WORK

P.T.O.
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55. TEr @R alie.
N, T e aqw Remma I,
7. foem qdee = gt T 3T T dEg TAlEEeS .
%.  uen, fer, aR ety =g o HiE I
8. aul-emuadt enfir Taawe Regrndier wEe fmin ww@.

(1) T (2) aFEm (3) 7 (4) aui

Identify the River Basin.,

a. Has its origin in the Betul District of Madhya Pradesh.

b. A small water divide separates it from the Purna flowing to its east.

c. Vemala, Niguda, Bor and Nand are some of its distributaries.

d. It forms the boundary for the Wardha-Amravati and Yeotmal districts.

(1) Pranhita (2) Wainganga (3) Painganga (4) Wardha

56. TS IETST I Hewidiet veaIfe Ao R T WNIie wd guitedl. 39 swa all
gfgea SR TS # g T ik Ufkear Aesd, IiE Fo & Face eeam fig
TR, T Geaifich T Faet T Icqaral 9g @ 7-5 29k Tael Isad Tike ?

A a9
.  graat e
®.  Fadl g
3. ggE g
(1) o A (2) ST AME (3) wF D (4) T

Five Year planwise study of growth of National Income indicates a progressive
trend. Though it witnessed a modest growth rate during the first four plans,-a
progressive trend appeared at a later stage and the growth rate stood high at 7-5%
per annum by the end of which Five Year plan(s) ?

a. Fifth Plan

b. Seventh Plan

c¢. Ninth Plan

d. Tenth Plan

(1) Onlya (2) Onlybandc (3) Only ¢ (4) Only d

FTYT FTHTATS SIUTT / SPACE FOR ROUGH WORK
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57. YIAHA AT THIfhd SRHEAIaeIS q9F AN WEeTY @ AF Higd AR
Fea-frAfawl Tk e w@ AN AR, WY T T T@E ineEwE N
TERTCEA] HEASHTH o TR ?

(1) =W g

(2) WegH

(3) ww.F. dg@a
(4) TH. SE¥ET

Which leading Indian demographer has very aptly remarked that it is easy to argue
in favour of family planning programme but is fraught with all kinds of difficulties ?
(1) V.M. Dandekar

(2) Malthus

(3) S.D. Tendulkar

(4) 8. Chandrashekhar

58. 201141 SRVRTER YRAT o gt
(1) 115t @ 121+ (3) 130 A (4) 125 =i

The population of India as per the Census 2011 was
(1) 115 crores (2) 121 crores (3) 130 crores (4) 125 crores

59. WK TSUHEATER WU ‘HrEn AfER @it Horen Jeed e feme deam
3T ?

(1) T gwfior MR FRiFA (NREP)

(2) wwf=a ywfivr fawm $E%7 (IRDP)

(3) SHETE U ASHT (JRY)

(4) TSR g g (EGS)

Which of the following schemes, first considered the ‘Right to Work’, according to the
Constitution of India ? '

(1) National Rural Employment Programme (NREP)

(2) Integrated Rural Development Programme (IRDP)

(3) Jawahar Rojgar Yojana (JRY)

(4) Employment Guarantee Scheme (EGS)

FEGT FHETATIA! AR / SPACE FOR ROUGH WORK P.T.O.
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60. 2011 — 12 Ae} wiaTer wpw Fafde e fafdian amer fad g 2
(1) 14-2% |
(2) 12-81%
(3) 10-59%
4 97%
What was the share of agricultural export in total export of India during 2011 -12?
(1) 142%
(2) 12-81%
(3) 10-59%
4 97%

61, WA el |Et ;

g o g
A Tiae ww=dt I s&u
7. Fet w=h II. 3 fermo
F.  vad HII III. 34 Scared
g gia s IV. " 3cred
H ) = £
(1) 1I v II1 I
(2) II II1 v I
3 IV II1 I I
4 IV I III II
Match the following :
List A List B
a. Yellow Revolution I Food Crops
b.  Blue Revolution II. Ol Seeds
¢.  White Revolution III. Milk Production
d. Green Revolution IV. Fish Production
a b c d
(1) 1I v I11 I
(2) II 11 v I
3 IV III I II
4) IV I III II

Foey] HHTS! SN / SPACE FOR ROUGH WORK
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62. 1990 =T TR IUNISATSAT AMHYFSGRE WFAETEAT HeHiq Gieiiadsh! Hud T@ HR
g ?
A, IAEvEhIHHS TR
¥, O wdie SR
%, IJUN GAHNE FER FATE WIS TS SERIHE Hafta SurEeH
T Pt g saEeen o
(1) wad§ (2) FTRAAMNS 3) HR® (4) ®&d o
Which of the following is rot a main cause for unsatisfactory industrial performance
during the period of 1990s ?
a. Slowdown in investment
b.  Exposure to external competition
¢.  Massive liberalisation measures announced for the industrial sector
d. Sluggish growth in exports '
(1) Onlyb (2) Onlyaandd (3) Onlyc (4) Onlya
63.  Saw=ai 4 qed e Eacicvi ciksiuch
(1) 5autEE (2) 5 auleg Al
(3) 1577 - 5a9 (4)- & Iutae =t
The farmers require long term loans for the period .
(1) of 5 years (2) more than 5 years
(3) between 15 months to 5 years (4) less than 5 years
64, AT HE dehe “egred I 1 TgvE™ ?

(1) <t wd sFglm SHmn Gu e e g,

(2) <t gdoss Wi onfon i aafteeriar am.

(3) <t ume dhegawN A F.

(4) <t Jnreht d% IR,

Why is the central bank of India known as ‘Reserve Bank’ ?
(1) It keeps the cash reserve of all scheduled banks.

(2) It is a supreme monetary and banking authority.

(3) It controls the banking system of the country.
(4) It is the bank of banks.

TOET IS FFT / SPACE FOR ROUGH WORK : P.T.O.
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65.

28 A

F JreAER, YU qeml @ fEEt I

. EER §q,

9. HAE

F.  GRENET A

T e g

i Hor/d faam/A st sm/snda ?

(1) %o A (2) Soq A AM &5
(8) wIAE MM F (4) %HE '
According to Keynes, the demand of money is for the following motives :
a. Transaction motive |
Precautionary motive

Speculative motive

All of the above

Which of the statements given above is/are correct ?

(1) Onlya (2) Only a and ¢
(8 Onlybandc (4) Only d

o o

AT HUSE Wrefiedeh! hivrd fyum sieg ameq ?

. HANcad FE FUATE A FOAR THE SqaRia ISl

[, STHCHE AT Fredid HOIR JaUaT Seherdl Ad ATE.

®.  IAH HUAT TEdld HAR TS ShordT Jal.

T STV FAA FHAAC THI S N FAR JEAT ARt Il

(1) %od A T g (2) HEd 3 T %
(8) %ad & 3T © (4) lreleh Hoad T

Which of the following statements are correct about the indirect tax ?
a. The impact and the incidence of the indirect tax is on a single individual.
b.  The incidence of indirect tax cannot be shifted on others.

The incidence of indirect tax can be shifted on others.

e

d. The impact of indirect tax is on one individual and the incidence of indirect tax
is on other individual.

(1) Onlyaandb (2) Only aand c

(3) Onlycandd (4) None of the above

FoeqT SIS ST / SPACE FOR ROUGH WORK
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67. W™ faewh R aavEhia (F.D.1) ¥aid IR 9& &a 31 9= g

(1) wiE™

(2) w9

(3) g

(4) W

Which country is the main source in Indian Foreign Direct Investment (F.D.L.) ?

(1) Mauritius

(2) Japan

(3) Singapore

(4) Germany

68. fm ¥ Hevle wefia fram e =
3. A TEEAT 280 ST FANHAR fam e T e,
9. 14301 fae s sty o, amad. W e,

Tl R/ faum/A st /s e ?
(1) waa A

(2) %

(3) manfrs

(4) e P T

Following statements are to be considered with regard to the Finance Commission :

a. The Finance Commission is established under Article 280 of the Indian
Constitution,

b. Dr. Y.V. Reddy is the President of 14% Finance Commission.
Which of the statements given above is/are correct ?

(1) Onlya

(2) Onlyb

(3) aandb

(4) None of the above
TFOEIT FTITATE! ST / SPACE FOR ROUGH WORK P.T.O.
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30 A

13 =1 o TRITIER Fve Usaen FEg &, YoF AT 9N Irdftar waitas arer fie
g ?

(1) feEw

(2) I WM

(3) ot

4) AW

Which State is receiving the highest share in Central taxes and duties and grant in

aid according to 13*® Finance Commission ?
(1) Bihar

(2) Uttar Pradesh

(3) Orissa

(4) Madhya Pradesh

70.

o, fFrgia 2o oo Orore yp Sfese ravEen @ aefom, SUwTd =
arfaimTH st FR0 anfor e v fEfa w5, § e,

¥, TN A SR T S9N @ U A4 e o1, ',
H. T AFHRUT ¢ IR SR Y@ 914 118,

Tt SR/ fam/A 9=t sR/sea ?

(1) e Fafr g

(2) S E AT H

(3) Had A T+

{(4) B =

a. The main objectives of fiscal policy in the case of developing countries are
increasing the rate of investment, reducing unemployment and
underemployment and controlling inflationary tendencies.

b. A new weapon in the armoury of fiscal tools is ‘forced consumption’.
¢. The main instrument of fiscal policy is taxation.

Which of the statements given above is/are correct ?

(1) Onlyaandb

(2) Onlybandc

(3) Onlyaandc

(4) Onlyb

Ty HHIATS! ST / SPACE FOR ROUGH WORK
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71. Eicie I SIS AT

Vo8

Y ‘q’
a1, v I fEfieR
7. FrgawEme I. =
®. WUR III. =& (mho)
3. HERW V. %o«

k) k| E: -4
n I II III v
(2) IV 111 II I
(3) 1II I v III
4 III 1I 1 v
Match the following pairs :

‘A’ ‘B’
a. Potential difference L Ampere
b. Current II.  Volt
c. Charge I11. Mho
d. Conductance V. Coulomb

a b c d
(1 1 II II1 v
(2) IV 111 11 I
3 1II 1 v 111
(4) III 11 I v

72. 3 PRI 8. 3. gl T .
(1) IFRS
(2) B
(3 =gt
(4) <efas

The S.L unit of radioactivity is
(1) Becquerel

(2) Rutherford

(3) Curie

(4) Chadwick

HYEq] FTHIETE! ST / SPACE FOR ROUGH WORK

P.T.O.
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73. TUNd! TiEweH AENSl UNEWe USS SHAfeUd  TNOMeR  THEIE  ISWAUTl el

__ wudE.
(1) ke (2) TEHT
(3) BN (4) SFERRT
The defect when cornea of human eye is not in spherical shape is called
(1) Astigmatism | (2) Hypermetropia
(3) Hypometropia (4) Presbyopia
74.  SATHEHIS TEU
(1) Sief=h g
(2) g w@n

(3) W= e + i g@n

(4) W= 9@ + [l HAT + FAFTE @
Atomic Number is defined as

(1) Number of protons

(2) Number of neutrons

(3) Number of protons + Number of neutrons

(4) Number of protons + Number of neutrons + Number of electrons

75. el el Temfie sififrn wioe yewe amg ?

I
@ CH,C001 —8 T +HC
+ _—
3 I
A
1) ferfhs aafeegm (2) FRIbATS TR
(3) —gfrmifeetis ofawm 4) wwIhes i
What type of chemical reaction is given below ?
0]
Il
AIC, C-CHj
@ + CH,C0Cl ———» ©/ +HC
Catalyst
A
(1) Nucleophilic substitution (2) Electrophilic substitution
(3) Nucleophilic addition (4) Electrophilic addition

FEEIT HHTETE! AT / SPACE FOR ROUGH WORK
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76.  GIcHedh! ST ¥eF ¥Ra & TR FRUNG 3@ 718 ?

(1) EA SEAFEE (COyp) (2) fada (CHy)

(3) TEARGNH (TS (NyO) (4) wEifEr (NH,)

Which of the following factors is not responsible for green house effect ?
(1) CO, (2) CHy

(3) N0 (4) NH;j

77. AT q Grefladeh 9 antar Sevne yeas woft g

(1) Iva= ion wdigy (2) wligy anfor vef
(8) weft et v (4) e AT IFTE
Archaeopteryx was a connecting link between the following two classes of
vertebrates ;
(1) Amphibia and Reptilia (2) Reptilia and Aves
(3) Aves and Mammalia (4} Pisces and Amphibia
78, TEUERE RO Ivwer S (Salamander) TG HST.
(1) SRR (Gymnophiona) (2) JUSAT (Urodela)
(3) YU (Anura) (4) 9IS (Apoda)

Lizard like amphibians (Salamander) belong to the order

(1) Gymnophiona (2) Urodela
(3) Anura (4) Apoda
79,  FRARIE RO o= wemiEEs =@ GRTH TS GUTEY 3R,
(1) ST (2) e
(3) wafrem (4 TiRgen
Malaria is caused by Plasmodium that is included into phylum
(1) Arthropoda (2) Annelida
(8) Platyhelminthes (4) Protozoa

o] HHTAIS! SR / SPACE FOR ROUGH WORK P.T.O.
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80.

34
T (TTH) AT ST JAgeAIR ST ARAT e v ?
(1) qfeA nfr SEegRe
(2) Tafafeme onf R
(3) Ifqurdte 3ffers anftn wqemmmA
(4) e anfor weifie Wi
Which of the following are Sulphur (S} element containing amino acids ?
(1) Leucine and Isoleucine
(2) Methionine and Cysteine

(3) Aspartic acid and Glutamine
(4) Valine and Glutamic acid

81.

T (1813) YA FHETG@er o Faean wpma g ?

(1) vome g anftn mam

(2) woE A afor e

(3) werrd EUAE Ha

(4) T FERE it wa

According to Eichler (1813), division of Bryophyta is divided into
(1) Class Hepaticeae and Musci

(2) Class Hepaticeae and Anthocerotae

(3) Class Hepaticeae only
(4) Class Anthocerotae and Musci

B2.

FredtemETs uteelt Smifaes uiteg Y WA,
(1) =frme -1837

(2) Y@ — 1867

(3) @R - 1930

4) feRwar - 1867

First International Botanical Congress was held at
(1) Leningrad — 1837

(2) Paris— 1867

(3) America— 1930

(4) Vienna - 1867

FEG] FPNHTS! SR / SPACE FOR ROUGH WORK
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T, Y, H1./OgH =1 TER Gielte TG Seae daedrd gietaar It

T, TN GEUEEEE FS Yo T Ffives T GG IUER .

®, THHSI AT A I,

3. Y ANHNERE ATEHET SIBTHS TS I T

(1) olieshr o1 anfon 5 (2) wheh a1, 9 afir &
(3) wliwdeht wd (4) SHath = onfr g
The main ways of controlling the spread of HIV/AIDS are

a. Screening of donated blood.

b.  Promotion of safe sexual practices and treatment of other sexually transmitted
infections.

c.  Avoidance of needle sharing.

d. Prevention of mother-to-child transmission with antivirals.
(1) a andb above (2) a,bandcabove
(3) All of the above (4) b andd above

T AR weeigER, TRE ¥ I9 WS SR g @ e e et
TS Hata wEear= W o T R Jaema srewn g quE o, weiiats! wiere
FECAHE TAA AR I 9 WA T FANIS AG: IMEAR A 9 =41 I
g 994 ?

(1) ==TASARER (2) wWeERE

(3) TETs (4) X

According to WHOQ, protein-calorie malnutrition is the most important public health
problem in developing countries where the rates of infant mortality are very high.
Which of the following is a condition in which the infant is virtually starving due to
lack of calories and proteins and there is no edema ?

(1) Kwashiorkor (2) Marasmus

(3) Mumps (4) Measles

85.

71 Wmrer €S, & wfosiys @@ wuE qaet .

(1) =m (2) wiEE (frvrs)
(3) e 4) =S

B.C.G. vaccine is used for protection against

(1) Tuberculosis (2) Typhoid

(3) Cholera (4) Jaundice

AT HTITHIS! ST / SPACE FOR ROUGH WORK P.T.0.
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86. YEARNET V&S SavaTETdt uier FasT.

(1) R
2) F
3 L

4 B

Select the alphabet for replacing the question mark.

(1) R

(2). F

@ L

4) B

FEET HETHIS RN / SPACE FOR ROUGH WORK
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87. THEIS TGN YHEHH HOETE U SEEEIHER 9Et Saeand ot wft g, o
e vy Fae.

-

L

A

A
telt wét W
e

¥ % St
-

(1 (2) (3) (4)

Select the option that would look like the left hand transparent paper sheet after
folding it as shown by the arrows.

-~
VAN

| e

A

1*fold T

&
;. .

*/

~
1) @) 3) 4)
hv_vﬂTm SR | SPACE FOR ROUGH WORK P.TO.
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88. T2 Fum anfor Freemd a2 ww A smRa. FrewulR A vty womo wafy fawn
faem
Td Hed WISHT ATEA.
TE WIS e ATEA.
HE TEA FB AT
sy
N, T WS A ARd. q. T4 B T AR,
F. Ta WA FS AT, . HIE TS VST 3TRA.
(1) fedem Forailhl uodl b 1t (2)  feetd T fasd ehama ota
3) ww % 7 Frerd ahaa o (4) % anfir s } = Frewd qdhwEma R
Given below are sets of statements and conclusions. Select the option that describes
the conclusions correctly.
Statements :
All fruits are vegetables.
All vegetables are fruits.
Some melons are fruits.
Conclusions :
a. All vegetables are melons. b.  All fruits are melons.
c.  All vegetables are fruits. d. Some melons are vegetables.
(1) None of the given conclusions follow (2) All of the given conclusions follow
(3) Only conclusion ¢ follows (4) Both conclusions ¢ and d follow
89. = wewr wWNIw Wog JEAT WWM Heha Toreww foifee MY, T ¥« wAm frfe .

D 31 AT T Gohd HIvTdl ?
BRAIN 13529
DRAIN 35293
RIVER 13754
DRIVE 83754
1 2 (2) 4 3 7 4) 1
The words in the first column are listed in the coded forms in the second column but
they are not in the same order. What number code is assigned for the letter D ?

BRAIN 13529
DRAIN 35293
RIVER 13754
DRIVE 83754
(1) 2 (2) 4 @3 7 4) 1

FEEdT BIFATS! ST / SPACE FOR ROUGH WORK
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I S e
N B ke
['_A. . %’o- ‘ :&_y
a b c d e

(1) a,c (2) b,c (3) b,e 4) a,d

Find the correct pair.

a b ¢ d Ie
(1) a,c (2) b,c 3) b,e (4) a,d

9i.

ﬁmgﬁﬁéﬁmmﬁmw’mﬁﬁaﬁﬁ I B A TR JSgT THS
frft & Fmior v A 2

QI Do D

(1) abc (2) a,ed (3} b,c,d (4) b,d,e

Given below are five alternatives that represent paper cut-outs. Which three of these
can be fitted to create equilateral triangular area ?

QI D o P

(1) ab,ec @ acd 3 bed (4 bde

o] IS ST / SPACE FOR ROUGH WORK P.T.O.
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92. Rdien wmfrem deuia ghe TR IR JvaTrdt 3fad i faer

R ?
it A amft B
IS fean
T B [

(1) e g A gt o

(2) ad EFER B Gt IR

(3) wmER A fr B, S GRof A

(4) @wEh A f B, 3 uhfiaur Qe am

Select the option appropriate for answering the following question with respect to
the given data.

Surfaces of the cube are coloured with six different colours. What coloured surface is
definitely opposite to the blue coloured surface ?

Data A Data B
Red Green
2@ §
‘§? Orange Blue AP

(1) Only data A is sufficient

(2) Only data B is sufficient

(3) Data A and B, both are not sufficient
. (4) Data A and B, together is sufficient

93.  Fral fegw v R figu 3@, N v Regmw @0 3@ A o fawma @@= 3@ S

HITaRAa 38U 34 ?
fqar, HrER, W@aR, §UaR, TEER, YEFHAR, WHER
(1) eEr (2) ®WER (3) WIBAR (4) FFER

What day comes third after the day which comes second after the day which comes
immediately after the day which comes second after Monday ?

Sunday, Monday, Tuesday, Wednesday, Thursday, Friday, Saturday
(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

FoEq] BITATS! SIFTT / SPACE FOR ROUGH WORK
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I p > q I r < 0, T YEITIH HIvrh Tt w0y 3R ?
(1) pr<gqr
(2) p+r<q+r
3 p-r<q-r
(4) worfR T T
If p > q and r < 0, then which of the following expressions is true ?
(1) pr<gqr
(2) p+r<q+r
3 p-r<q-r

(4) None is true

95. S We AWE TH WF FAEAT, W He wfvfied qUE WS WS I|I. T Hel el T
1R SEifaom Tt e, ‘

(1) 2,3
(2) 8,2
(3) 2,2
4) 3,3

If I had one more brother I would have twice as many brothers as sisters. If I had
one more gister I would have same number of each. Select the option that indicates
number of brothers and sisters that I have respectively.

1) 2,3
(2) 3,2

4 3,3

FOEIT HPTHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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96, A 1 3TEAT FoAMR B a0fi € g Ui wHiradw wwEm Fl. B = &R sl e
M wreed], W C = BREF J&E 9 MoAT Feedl. deaed THUT ek §Ean
B 3f% C = W A a9 Ao gaad 100 4wl e, a1 sga
it C = fordt @ a2 ‘

(1) 25

(2) 50

(3) 80

(4) 100 ,

Countries B and C had joined together to defend the attack by country A. Each
soldier from B fired eight bullets while each soldier from C fired four bullets. If the
total number of bullets fired is less by 100 compared to eight times that of the total
number of soldiers of B and C, then how many soldiers from C were there on the
front of this joint defence ?

(1) 25

(2) 50

(3) 80

(4) 100

97. 16 TRQ TSl 9F 32 WeDd. @ a9Ev Heft, d5E1 B TR IO FEA 34 P
26 =T Uit 24 3 16 3@ Fieae esd. R by F9F quad feer.
(1) 29-50
(2) 33
(3) 3325
(4) 3250

The mean weight of 16'objects was found to be 32. On rechecking, it was found that
weights of two objects were noted as 24 and 16 instead of 34 and 26 respectively.
Select the correct mean from the given options.

(1) 2950
(2) 33

(3) 3325
(4) 32-50

e BHTAIS! SN / SPACE FOR ROUGH WORK
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98. T TR Wad T anlt 5 e 3 aeaEch o, W 210 R vewEEn w9 98w
AN JTHAT. o MENRT gEandran yamamn 31 Rt g 2
(1) 28 fedt amft (2) 32 forft et
3) 30 fowht amsht (4) 35 foht arfr
If a car had increased its average speed for a 210 km journey by 5 kmph, the journey
would have been completed in one hour less. What was the original speed of the car
for the journey ?
(1> 28 kmph (2) 32 kmph
(3) 30 kmph (4) 35 kmph
99. WAA Y@ T F
| RTNP: JLFH : : XZTV: ?_
(1) LRNP - (2) PNRL
(3) RNPL (4) PRLN
Complete the following series :
RTNP :JLFH :: XZTV: ?_
(1) LRNP (2) PNRL
(3) RNPL (40 PRLN
100. JEETE IeEEE AU Haha Feet aRA

“facing problem with health” ¥ YegEqErN H$hd “blawhipnkywl” &1 37§, “health
problem on rise” 91 Thd “grnywlbuebla” 31@1 3R 3T “rise with every challenge” 9
HHhd “rdpnkbuegre” 31 3. “facing challenge every day” o1 GHgMTE Tald deheid
(1) ywlrdwhigre (2) whiblagrerd
(3) rdbuepnkgre (4) gremgtwhird

Group of words and their codes are given as follows :

“facing problem with health” as “blawhipnkywl”, “health problem on rise” as
“grnywlbuebla” and “rise with every challenge” as “rdpnkbuegre”. Select the code for
“facing challenge every day”.

(1) ywlrdwhigre (2) whiblagrerd
(3) rdbuepnkgre (4) gremgtwhird

TR PTTEIST SIANT / SPACE FOR ROUGH WORK
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(8) wwyfwrEed fifgm Feew fifire wwie =2 Fm (F 3%) F09. TyRaHeafaias IauHrat a1 34t
FATETER Fe HM FEAH A FH FAOITS AW F AR, I TS T T LR IR T
ol e “whemmed o= Ao wiiEy SemEeTe afufm-82" arie agdaeR Sran
W I8 7 Ol =Hard) FATT OF quTAT SrErE=an o/ 9 o F9R e e e
A Fié.

(9) R W NBHEE! IR fafka Fach I aueaHE IgaNEn § AR A atE TaTREETE
U W TEE R, AT TTReTET SagEt IHeEW SATeed ITRafeee Wl
wRAHEERE 7 T wa ot st .

¥. . 201,

W. %. 201.

STYeIT URol
wfiel e TR FAES FOR o T w9 7
(1) @ R @) 3y frEmrr
(3) T UHATEA U (4) TSRS e
IR A 39 (3) T THEIET U8 SR AR, o= W1 yEH W (3) g
IR Giefeymm 999 3. 201 TS Iswas () ¥ ade QU0 SHifhd W
RGO STEvh IR,

@ ® @ ©

IUEFAIA T A TRAEEIRIT TEiG ages (U SEifed A qrEaEl. WiehREr
Rt SHIEAT IS STeTd amad, ARt o v O A .
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